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Edit figure 126-25 to show switch as below:

 



Edit paragraph to read as shown:

126.4.2.5.14 CRC16 

CRC16 (2 octets). This field shall contain the CRC16 value calculated using the 
polynomial (x+1)(x15+x+1) of the previous 10 octets, Octet 5<7:0>, Octet 
6<7:0>, Octet 7<7:0>, Octet 8<7:0>, Octet 9<7:0>, Octet 10<7:0>, Octet 
11<7:0>, Octet 12<7:0>, Octet 13<7:0>, and Octet 14<7:0>. The CRC16 shall 
produce the same result as the implementation shown in Figure 126–25. In 
Figure 126–25 the 16 delay elements S0,..., S15, shall be initialized to zero. 
Afterwards Octet 5 through Octet 14 are used to compute the CRC16 with 
the switch set to CRCgen in Figure 126–25. After all the 10 octets have been 
processed, the switch is set to CRCout and the 16 values stored in the delay 
elements are transmitted in the order illustrated, first S15, followed by S14, 
and so on, until the final value S0. 


